1.

3 xaxbxlxaS JA 7|35 A=F

@ 3abla @ 3a’b

@ 3aab ® 3xaaxb

So] uhz ) Lherd

® 3laab

72129

A

Al
Z2= A 9

A= °Pﬂ‘3l A2

22 2= AsAEY EE
=4 ol 7:1} 12 Agefet.
w2t 3xaxbx1xa=3ab




a, b 7t ot 3 e wf, ~2a + b? 9] G F5hola},

>
> ™. 731

b=(-9)+-=(-9)x3=-27

so=2a+b? = -2x (=1) + (=27)?
=2+1729="731




D 2b




4. ax(-3)xaxbxbx(-1) & Al 7|25 AFoto] UEp™?

® -3ab? @ a*b?
® (-3a?) + (-b?) @ 3a’b?
® 34 + (-b?)

7*}% ”Jr‘ﬂ}l AR

g2 2= AFAEY &2

A oboll =2 1 2 ARttt

webA ax (-3) xax bx b x (-1) = 3a*b?




® a-

@ a®+b?

® a+b
b
a




